KAWAI

HML-3

Assembly Instructions
Aufbauanleitung
Instructions d’assemblage
Instrucciones de montaje
Istruzioni di assemblaggio
LA

E7/ X522 RHEIIEREAE

English

Deutsch

Francais

Espanol

Italiano

X

AAzE




<
A
)
[=
w

HML-3 Assembly Instructions

. Do not use this stand for any purpose other than its intended use as a piano stand.
. At the final stage of assembly, ensure that all screws are firmly tightened.

. Do not drag the product along the floor. Take care not to drop the product.

. Do not stand on the product or exert excessive force.

. If any screws are found to be loose, tighten them immediately.

SO 1A W=

. Do not lean on the piano.

Bincluded parts

Before attempting to assemble the digital piano stand, please ensure that all parts below are included. A Phillips-head
screwdriver (not included) will also be required in order to assemble the stand.

/ © Screw (6x45mm) x 4

@\
—

, p S Sp
A B
| O Screw (5x25mm) x 4
Side Board
Back Board

1.Adjusting the fall prevention glides

If the instrument will be placed away from a supporting wall, the fall prevention glides should be used to improve the stand’s
stability. Remove the two screws, then reposition and reattach the glides located on the underside of the left and right Side
Boards A B. The extended glides should protrude outward, improving the stand’s stability.

VAN For safety, always install the glide in one of the conditions shown in the diagram.



2.Assembling the side boards A B and back board C

Attach the Back Board C to the left and right Side Boards A B using two screws @ on either side.
* Ensure that all four screws are firmly tightened.

%

=

o B £

N \<\ L
_\

P

A

\ @// .

3.Mounting the digital piano onto the 4.Attaching the digital piano to the

stand stand
Carefully lift the digital piano onto the assembled Fasten the underside of the digital piano to the
stand. assembled stand using two screws (9) on either side.

* Ensure that all four screws are firmly tightened.




HML-3 Aufbauanleitung

1. Benutzen Sie den Stander ausschlieRlich als Stander fur das Digitalpiano.

2. Nach dem Zusammenbau aller Teile prifen Sie bitte erneut, ob alle Schrauben und Verbindungen fest
sind.

3. Ziehen Sie den Stander nicht Uber den Boden und lassen Sie ihn nicht fallen.

4. Stellen Sie sich nicht auf das Produkt und tben Sie keine UbermaRigen Krafte darauf aus.
5. Falls einige Schrauben locker sind, ziehen Sie diese sofort wieder fest.

6. Lehnen Sie sich nicht an das Piano an.

EBeiliegende Teile

Vergewissern Sie sich vor dem Aufbau des Standers, dass alle nachfolgend aufgelisteten Teile vollstandig
vorhanden sind. Fur den Aufbau bendtigen Sie einen Kreuzschraubendreher, welcher nicht im Lieferumfang

_S enthalten ist.
% - © Schraube (6x45mm) x 4
) KRN S SN S
@ Schraube (5x25mm) x 4
LT S S S g

Seitenteile

C

Rickwand

1.Positionieren der Gleiter

Falls das Instrument nicht an einer Wand positioniert wird, empfiehlt sich die Positionierung der Gleiter fir eine
bessere Standfestigkeit zu dndern. Schrauben Sie die Gleiter - die sich unter den Seitenteilen A B befinden - ab,
drehen Sie sie (so, dass sie hinten herausragen) und schrauben Sie sie anschlieBend wieder fest.

Schraube

&

Gleiter

/\ Montieren Sie die Gleiter aus Sicherheitsgrinden immer entsprechend den in
4 der Abbildung gezeigten Positionen.



2.Zusammenbau der Seitenteile A B mit der Riickwand C

Verschrauben Sie die Riickwand C mit den beiden Seitenteilen A B mit je 2 Schrauben @ auf beiden Seiten.
* Priifen Sie den festen Sitz der 4 Schrauben.

@K o B

~ _\
= ¢

2

e
(]
(7]
=
=2
(]
(a]

o~

3.Positionierung des Digitalpianos auf

4.Befestigung des Digitalpianos
dem Sténder

aufdem Stander

Heben Sie das Digitalpiano vorsichtig auf den

Befestigen Sie nun das Digitalpiano mit je 2
aufgebauten Stander.

Schrauben @ auf jeder Seite.
* Prifen Sie den festen Sitz der 4 Schrauben.




2
]
Un
=
©
-

[F 9

Instructions d’assemblage du HML-3

1. N'utilisez pas le socle a toute autre fin que celle spécifiée pour les socles de piano.

2. Ala fin du montage, veillez a ce que toutes les vis soient fermement serrées.

3. Ne trainez pas le produit sur le sol. Faites attention a ne pas laisser tomber le produit.
4. Ne vous tenez pas debout sur le produit ou n'exercez pas de force excessive.

5. Si des vis se desserrent, resserrez-les immédiatement.

6. Ne vous appuyez pas sur le piano.

BPiéces

Avant de commencer le montage du stand du piano numérique, assurez-vous que toutes les piéces ci-dessous
sont présentes. Prévoyez également un tournevis cruciforme (non inclus) pour le montage du stand.

/ © Vis (6x45mm) x 4
A A e

@ Vis (5x25mm) x 4

L S S S

B

R
L

Panneaux latéraux

Panneau arriere

1.Réglage des coulisseaux anti-basculement

Si linstrument est placé a une certaine distance d'un mur de support, il faut utiliser les coulisseaux anti-
basculement pour une meilleure stabilité du stand. Retirez les deux vis, puis repositionnez et fixez a nouveau les

coulisseaux sous les panneaux latéraux gauche et droit A B. Les coulisseaux en extension doivent dépasser du
panneau et améliorer ainsi la stabilité du stand.

Coulisseau

/N Pour des raisons de sécurité, installez toujours le patin dans I'une des
conditions indiquées sur le schéma.



2.Assemblage des panneaux latéraux A B et du panneau arriere C

Fixez le panneau arriére C aux panneaux latéraux de gauche et de droite A B a l'aide de deux longues vis @
placées des deux cotés.
* Veillez a ce que toutes les vis soient fermement serrées.

B>
6: N B
_\

\ @//;

2
S
O
t
¢ s
3.Montage du piano numérique sur le 4.Fixation du piano numérique au
stand stand
Posez avec précaution le piano sur le dessus du Fixez la base du piano au socle monté a l'aide de
socle monté. deux vis ® placés des deux cotés.
* Veillez a ce que toutes les vis soient fermement

serrées.




Instrucciones de montaje del HML-3

1. No utilice la base para cualquier fin distinto a su uso previsto como soporte de piano.
A 2. En la etapa final de montaje, asegurese de que todos los tornillos estén bien apretados.

3. No arrastre el producto por el suelo. Tenga cuidado de no dejar caer el producto.

4. No ejerza presién excesiva sobre el producto.

5. Si algun tornillo se afloja, apriételo inmediatamente.

6. No se apoye en el piano.

BPiezas incluidas

Antes de montar el soporte de piano digital, asegurese de que todas las piezas mostradas mas abajo vienen
incluidas. Un destornillador Phillips (no incluido) también sera necesario para montar el soporte.

/ © Tornillo (6x45mm) x 4

. o T S v

@ Tornillo (5x25mm) x 4

A,

Tablas laterales

Espaiiol

Tabla trasera

1.Ajuste de los rieles de prevencidon de caida

Si el instrumento se coloca lejos de una pared donde apoyarse, se deberian utilizar los rieles de prevencién de
deslizamientos, para mejorar la estabilidad del soporte. Retire los dos tornillos, y luego vuelva a colocar los rieles
ubicados en la parte inferior de las tablas laterales izquierda y derecha A B. Los rieles extendidos hacia afuera
deberian sobresalir, para mejorar la estabilidad del soporte.

Deslizadora

I\ por seguridad, instale siempre el soporte guia en una de las posiciones que se
8 muestran en el diagrama.



2.Montaje de las tablas laterales A B y la tabla trasera C

Fije la tabla trasera C a las tablas laterales izquierda y derecha A B usando dos tornillos @ en cada lado.
* Asegurese que los cuatro tornillos estén bien apretados.

@K o B

“~ _\
= ¢ =

2

sl A
S
9
)
3.Colocacion del piano digital en el 4.Conexion del piano digital a la base
soporte
Sujete la parte inferior del piano digital al soporte
Coloque con cuidado el piano digital en el soporte montad’o con dos tornillos @ a ambos Iados., )
ya montado. * Asegurese de que las cuatro tornillos estén bien

apretadas.

()
[{ e
(1]
o
(7))
Ll




o
[
S
©
i)
—

10

Istruzioni di assemblaggio HML-3

1. Non utilizzare il supporto per usi diversi da quello di supporto per pianoforte digitale.
A 2. Alla fine dell'assemblaggio assicurarsi che tutte le viti siano ben fissate.

3. Non trascinare il supporto sul pavimento. Attenzione a non far cadere il prodotto.

4. Non appoggiarsi al supporto o a esercitare una forza eccessiva.

5. Se qualche vite non é fissata bene, stringerla immediatamente.

6. Non appogagiarsi sul piano.

BParti

Prima di procedere con I'assemblaggio del supporto assicurarsi che tutte le parti siano presenti. Per montare il
supporto & necessario anche un avvitatore Phillips.

/ @ Viti (6x45mm) x 4
' S S Sy Sy

B

@ Viti (5x25mm) x 4

é‘/ S S S

R
L

Pannelli laterali

Pannello posteriore

1.Regolare le guide anti-caduta

Se lo strumento € posizionato lontano da una parete di appoggio, si consiglia di utilizzare le guide anti-caduta
per avere una migliore stabilita. Rimuovere le due viti, quindi riposizionare e riattaccare le guide collocate sotto

i pannelli laterali sinistro e destro A B. Lestensione di queste guide verso l'esterno migliorano la stabilita del
supporto.

K I
& Viti
&

Guide

I\ per sicurezza, installare sempre il supporto guida in una delle posizioni
indicate nello schema.



2.Assemblare i pannelli laterali A B e il pannello posteriore C

Unire il pannello posteriore C ai pannelli laterali sinistro e destro A B utilizzando due viti @ su ogni lato.
* Assicurarsi che tutte le quattro viti siano fissate saldamente.

=

B
0~

2

y

P

A2\

A

|

3.Montare il pianoforte digitale sul 4.Fissare il pianoforte digitale al
supporto supporto
Appoggiare con delicatezza il pianoforte digitale sul Fissare la parte sottostante del pianoforte digitale al
supporto assemblato. supporto utilizzando due viti (9) per ogni lato.
* Assicurarsi che tutte e quattro viti siano fissate
saldamente.

11

(=}
c
S
©
=
—



HML-3%55R

1. AR EN A F LN,

2. (RS SE Y, e EH BIAFTE IR £ 82 EEH,
3. BB it B B LE iR

4, 2 bR SR eI B IE ST

5

6

IR IME AR, B X E
BTN .

Wrrsme
EFBRLE TR EBNE AL, ERRLEGaS U TR AREE—S+FRBLT (ZEARNFEE) ARZETANE,

/f / © 124 (6x45mm) x 4

@ °
X @ 124 (5x25mm) x 4
‘;/W!Vf)i és/ o e e
C
EER

1. AN R EIRE

MNRME BRI S G BTN, BRI T LU MR E . R BUR L, RERAEMNA BNIREREE. B
BB BRI, UERSILNFHRE .

&

PEIEE

N\ HTENRS, EEUEERF RIS — RS,

12



2. ZEMiRA BissiRC
AR @ EEpREERCHA BEAMRERER

- R E TR,
%
o - |
.
o [ A
| \ .
9
)
3. 1SHMEREMIE 4. JZHRINSTREMA L
RN B A ATE R AT TR 4z O B RNEE R DRI R L,

* RO FUR LR R EIRY.

13



HML-3E7 /X2 RiHILEHAAE

1. COHML-2IZE7/ ZRZV RUA DB THERLAWLWTIE T,

2. AL TR ITRTORIHLoMDFEFE o TVBI O ZRESR LTS,

3. AEBRERD LTI ETSAVTE TV ARB AR IBRVESITEELTLIET L,
4, RERD EICESTD BRI IZMFTZDLAEVTIE I,

5. xCHPBATVWEDER DTS IITHD T T,

6. ET/ICEHEDDDSRNTLIE S,

BREEETNTLSERm

BFET/ RV R ZEAILTBRICIATDOIRTOR@DASTVWBZ EZBR LTI TV RAX Y REBAILTETD
ICITSARSAN— (BENTEDEHEA) BBETT,

/f / © = (6x45mm) x 4

Iﬁ} °
> QO v (5x25mm) x 4
e S S

L

1. EBEBALE I SARZRETS

HEZETRATICRET 5B I EHAHLEISAREEO TRV FDOREMZRDIVEDN DD XTI EHEDT A FR
—RA.BOEREICREINTVEISTIRNSENZNED2EA%ZIET L. JSTROMBEZEN LT H5—EMO[IFT
REVREZVRODRER ZRDBTDHD. I 51 FOMEIFIMAIICREIHT LSICRETILELBDET,

I
¥
m

AN B2 D10z BFRICFRT VT NHORETY S REBDAIF TS,
14



2. B RAR—RA.BEERCEEAIITS

BRCEAEBEDY A RE—RA.BIc. 2hen®y @ 2K % E TR ES,
ARORIMTRT LoD DFEFE->TVBZ L 2SR L TR S,

N
(3] N
&~y M

;\

o~

4. TORIWET /X2 RICEDTITS

. FORINWETI/ERAVRICEHES
AL TIREVRICTF SR T/ R EEICHE £, AL TIZAZYRICTSRILET /O T A% . BRlZn
z2h+x> @283 o5 FE->CTEELE T,
Y ARDRIHTRT LoD E-> TSI L 2RERLT

<IEEL

Ho
o

K
m

15



KAWAI

THE FUTURE OF THE PIANO

SP00002329
Copyright © 2024 Kawai Musical Instruments Mfg. Co.,Ltd. All Rights Reserved. “ ‘ “‘ “ ‘ ‘ “ ‘ ‘ |‘ “ ‘ “ ‘ ‘ “ ‘ ‘ “ ‘ “ ‘“

3000012234-R102



